Multiplicar Tres Polinomios (D)

Ot

Simplifique cada expresion.

- (5p° +9p°)(3p* — p +4)(2p° — 2p" + 3p?)

(3w 4+ w?)(—8w* + 6w?® — 8w?)(—5w? — 5w?® — 8w)

- (—82° + 5at) (2 — ba 4 7)(—bat — 32 + T2?)

(=2t 4 43 (—48° + 5t = 383) (=Tt + 2 + 8t

(8t = 3t%)(—9t® 4 2t — 5t)(—Tt* — 37 + 81?)
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Multiplicar Tres Polinomios (D) Respuestas

Ot

Simplifique cada expresion.

- (50° + 99 (3p” — p+ 4)(2p° — 2p* + 3p%)

— 30p"" + 14p° + 23p® + 116p" — 39p° + 108p°

(3w® + w?) (=8w?* + 6w* — 8w?)(—5w® — 5w? — Sw)
= 120w + 70w + 232w® + 50w” + 184w + 64w

(—82° + 5a*) (2 — bx + 7)(—bx? — 32° + T2?) |
= 402" — 2012"Y + 2142° + 3832° — 67227 + 24528

(—2t* + 443)(—4t° + 5t — 36%) (=Tt* + * + 8t?)
— 56t 1+ 190t12 — 1444 — 98¢ 1+ 19640 — 968

(8t = 3t%)(—9t® 4 2t — 5t)(—Tt* — 3t° + 81?)

= 504t — 8511 — 383" + 377t% — 413t" + 120¢°

MatesLibres.com




